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M.A. DEGREE EXAMINATION - JANUARY, 2006.
Sociology
INDUSTRIAL RELATIONS AND LABOUR WELFARE
Time : 3 hours Maximum marks : 75
PART A — (8 x 5 = 15 marks)
Answer any THREE questions out of the following.
All questions carry equal marks.
Each answer shall not exceed 1 page.
1.  Define Industrial disputes in India.
Qgmflegienn SETTHISET GrenpHIed Gremen?

2. Point out the importance of workmen’s
compensation.

@gmflererirast @lienu sfla_Bglen wsfwusgeusams
efleul,

3. Trace the growth of Trade union in India.

QpPwrellen  “Qpmflp shshseflar euerFfenw
T (HSgIOTES.



4. Explain the causes of Industrial disputes in India.

Qamifled glwm SSTTHISEHESTET SITTERTRISET TG ?
5. Discuss the various measures of social insurance
in India.
@pdwrellen sepa sruSEH S kisamar el
PART B — (4 x 15 = 60 marks)
Answer any FOUR questions out of the following.
All questions carry equal marks.

Each answer shall be in Essay Form.

6. Describe the methods of prevention and
settlement of Industrial disputes.

Qgmfinarene - BEITY BG5S sHUY
| plLauigSanasamenb FONE (pepameTd efleufl.

7.  Analyse the Industrial development in Five Year
Plans.

Qgmfiperee geop aeaiséllar  pHsraTOS
S Lsefld uanrupés.
8. Explain the importance of employees state
insurance scheme.

Qgmflerentaefler  <irs  aTLSCEH Sl sHen
wédwsgiausms edlersEs.
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9. Discuss the evolution of Trade Unions in India.
Qpdw Gsmfn sms Carppsdenar afleré@s. '
10. Examine the various welfare activities of
Government of India.
@idw sirdlen uaGeum BRHLLBisemer eflaul.
11. Critically examine the workmen’s compensation
and maternity benefits.
Qsmferariseflen @y  sllsl s  wLHDID

waLGUD FPIMESET QeuDeD SalHSTTTIIS.

12. Highlight some of the major problems of industrial
labour in India.

@odu  Qsrfpsreeseiies  Asmfld  erihg
Grgsamensamen efleuf&asay.
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